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Statistics in Sports (Math 192) - Quiz 1 Name ;r’a/% %z ) M"‘ S

Spring 2009 - Brad Hartlaub

Directions: Please answer all of the questions below. The point values for each problem are
indicated in parentheses. Partial credit will be awarded if you show your work. Be careful not to
spend too much time on any one part of a question.

1. The file P:\data\math\hartlaub\sportsstats\MadduxGlavin.mtw contains career pitching
statistics (W = number of wins, L = number of losses, PCT = winning proportion, and ERA =
earned run average) for Greg Maddux and Tom Glavin. The first 6 columns contain the statistics
for both pitchers, and then the data were unstacked so that the statistics for Glavin are in columns
C7 though C11 and the statistics for Maddux are in columns C12 through C16.

a. What plot would you use to provide a graphical comparison of the season winning

percentages for these two pitchers? Explain why you chose this plot. (10) / /
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b. Which pitcher tended to win a greater percentage of games? Explain. (10)

4 %fi! /zé {/ s ,/4/ e me’a/a@g & e caéwv//oé‘//dq‘/
(Z# 4 Selore fend fo wria abect ée- ’5{/9"“9“/""/ Aer
70.«»5’5 ﬂ/ﬂ/aé(/ éa;' //zg L;Zer a7EaG et /(,24 ;/s,éaj/a/}//ﬂ?a{mf -q{)

&

¢/ Which pitcher tended to have a lower season ERA? Explain. (10) /¢ £56 v .
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d. Find and interpret thﬁe z-score for Tom Glavin’s lowest winning proportio )mg the 1€ /e

1.5*IQR criterion, should this value be tagged as an outlier? Explain. (10)
o X7 — ;605’? 217 St /Ja/f a/aéafar/omf éé&/

-~ §core = = -‘9./75.25 = T
P score ,/%5 Sk m/Przz (Jﬂ,,(p R
rokaal=i50n)=.21  Hd-15T8L= 56,2/ M s observetiog

il
e. Plot the ERA for Greg Maddux against time. Is there an obvious pattern? Explain. (10) i‘i" /;// ﬁf il
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f. Find the regression line for predicting Tom Glavin’s winning proportion from year and
identify the fitted value and residual for 1995. Does this linear model provide a good fit?

Explain. a5
/ﬂrr o = ”3?5/7/—-52&/ /542» {/w-fz |
/??‘;" //é ;% /? s = 63?:’@5 %;/4/:‘69{" 6-57&05: 066?}?
;.
// / /,,),mr /;440(/%{0; //o/ /‘c‘fo//'yd ﬂ/éj;OC/z/?/ / ,775/

(st SV G
/) %" mna !/ﬁ/n o W””’ m{_ - (JV/W ”/Z

A i?/’/l/ ;7450 P e ,f,,/* Gecd ,-4// /’d%f



